ew

=D
~

P13

Taseadivoyarila Struct



Struct

Y A

s 9 ~ 9 ~ 0 2
L‘]J‘Hiﬂﬁflﬁ'iﬁ ISLUYU "Uﬁ]ﬂJﬁ‘VI@LellﬂuiﬂﬁllﬂillﬂWWuﬂeﬂu

U

A Y o
e 19 11 n15 M9

ilulaseadreinusremsveya(field) amneadesiu
13deiu



Struct vewinanL

QU

o = v =X 9 Y dgj
DNINUA §$Lﬂﬂuuﬂﬁﬂyqﬂ§$ﬂﬂﬂﬂ’38 'ﬁTfJﬂTiGU@ll‘ua JU
O SHaUNANE

d' v N
0 ¥UNANH
O AZUUUAIUNA NN
O azuuuasvlatenia

d In3A



struct Type Declaration

RIS INIE struct sfuctfps

Type, 1d-list,;

Type, 1d-list,;

type | 1d-list
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struct student

{
string id;
string name;
Int mid;
int final;
char grade;

J
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struct student

{
string id,;
string name;
Int mid;
Int final,
char grade;

%

student a;

student
student ©

0,C,
[5];

student e

2][3];
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malguanunudulsyia student

struct student

{
string id;
string name;
int mid, final;
char grade;

|

student a;

a.id a.name a.mid a.fianl a.grade

a.id = “01%
a.name = “urai’;
a.mid = 34;
a.final= 45;
a.grade="P’;

a.ild a.name a.mid a.fianl a.grade
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malguanunudulsyia student

struct student

{

string id;
string name;
int mid, final;
char grade;

|

student d[5];

dio] d[1] d[2] d[3] d[4]

l.id = “01%;
.name = “urai’;
].mid = 34;
|.final= 45;
.grade="P’;

d[4]
d[4]
d[4]
d[4]
d[4]

d[4].id d[4].name d[4].mid d[4].fianl d[4].grade
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struct examStats

{
string stuName,
Int scores|3];
float average,
char grade;

I3

examStats aStudent;
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struct examStats

{
string stuName,
Int scores|3];
float average,;
char grade;

I3

examStats aStudent;
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Number of Customer = 4

Group O
Chanin 10000
Somsak 15000
total 25000
Group 1
Ural 50000
Prayat 20000
total 70000

Total all 95000
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A R Y A ' %
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#include <iostream> good g[3];
#include <string> char ch:
using namespace std; intkey, n;
int main() inti:
{
struct good for (i=0;i<3 ; i++)
{ {
|nt_|d; cout<<"id=";cin>>g[i].id;
string name; cout<<"name";cin>>g[i].name;
double cost ; cout<<"cost=";cin>>g]i].cost;
) int instock; cout<<"instock=";cin>>g[i].instock;
, }
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do {

cout <<" please choose" << endl; | | {
cout <<"1. buy " << endl;
cout <<"2. sell " << endl;
cout <<"3. print " << endl;
cout <<"4.end" << endl ;

cout << "select: ? " :
cin>> ch;

if (ch=="1")

cout<<"Key="; cin >> key;
for (i=0;i<3;i++)

if (key==q[i].id)
if (i<3)
{

break:

cout << " number of itemtoadd =" ;

cin>>n;
g[i].instock +=n;
}
else
cout <<"not found" << endl;




else if (ch =="2")
{
cout<<"id="; cin >> key;
for (i=0;i<3;i++)
if (key==q[i].id) break;

if (i<3)
{
cout << " number of item to sell =" ;
cin>>n;
if (n<g[i].instock)
{
g[i].instock -=n ;
cout << "total =" << n * g[i].cost ;
}
else
cout << "in stock =" << g[i].instock << endl;
}
else

cout <<"not found" << endl;



else if (ch =='3")
{

for (i=0;i<3;i++)

{
}
}
while (ch!='4");

cout << "bye bye " << endl;

return O ;

}

cout <<

"id:" <<g[i].id <<end];
cout << "
cout << "
cout << "

name :" <<g[i].name <<endl;
cost:" << gl[i].cost<<end]; ;
instock:"<<g[i].instock<<endl ;



#include <iostream>
#include <string>
using namespace std,;
struct good

{
int id;
string name;
double cost ;
Int instock;

¥

void inputl(good []);

int search(const good g[] , int key);
void menu() ;

void process(good []);

void print(const good []);

void buy(good []);

void sell(good []);



